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Instructions for Candidates 

(Write your Roll No. on the top immediately on receipt of this question paper.) 

(इस Ĥæन पğ के ͧमलते हȣ ऊपर Ǒदए गये Ǔनधा[ǐरत èथान पर अपना अनĐुमांक ͧलͨखए.) 

Answers may be written either in English or in Hindi; but the same medium should be used 
throughout the paper. 

इस Ĥæन पğ का उƣर अĒेँज़ी या ǑहÛदȣ ͩकसी एक भाषा मɅ दȣिजए; लेͩकन सभी उƣरɉ का माÚयम एक 

हȣ होना चाǑहए.   

Attempt any four questions in all. All questions carry equal marks. 

ͩकÛहȣ चार Ĥæन कȧिजए. सभी Ĥæनɉ के अकं समान है 

 

 

1. Differences can be natural but inequality is a social construction. Explain with suitable 
examples. 

 अतंर (ͫडŉɅ स) ĤाकृǓतक हो सकता है लेͩकन असमानता एक सामािजक Ǔनमा[ण है। उपयुÈत 
उदाहरण के साथ समझाए।ं  

 
2. Do you agree that it will be fallacious to explain caste systems solely in terms of ‘varna’ 

system? Substantiate your argument with examples. 

Èया आप सहमत हɇ ͩक जाǓत åयवèथा को ͧसफ[  'वण[' åयवèथा के संदभ[ मɅ समझना 
ħांǓतमय होगा? उदाहरण के साथ अपना तक[  दɅ। 

 
3. Household plays most important role in the reinforcement of gender identities. Do you 

agree? 

लɇͬ गक पहचान के सुǺढȣकरण मɅ गहृèथ जीवन Ĥमुख भूͧ मका Ǔनभाता है। Èया आप सहमत 
हɇ? 

 
4. Untouchability is one of the manifestations of social differentiation in India. Explain 

भारत मɅ सामािजक अतंर कȧ अͧभåयिÈतयɉ मɅ अèपæृयता भी एक अͧभåयिÈत है। ͪववेचना 
कǐरए। 
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5. The Indian Constitution has provisions for safeguarding gender equality. Comment.  

भारतीय संͪवधान मɅ लɇͬ गक समानता सुǓनिæचत करने के ͧलए Ĥावधान ͩकए गए हɇ। ǑटÜपणी 
करɅ। 

 
6. ‘Dalit’ identity has offered an important rallying point for the lower castes. Explain with 

suitable examples.  

‘दͧलत’ अिèमता ने Ǔनàन जाǓतयɉ को एकजटु होने का मौका Ĥदान ͩकया । उपयÈुत 
उदाहरणɉ के साथ समझाएं 
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